¥ \BR—ZAR—=IIST(H$M6E6A2 2H(L) : BEHEERISICR)
XARMEDR. 7EI—-ILRS—L4A

1 2 3 4 5 6 7 =y E
T 2 1 0 1 1 1 0 6 —
NEBR—=ZAR=)II5T| 0 0 0 1 0 0 0 1 1
RYTUES 3 3 0 0 0 2 X 2
T 3 4 0 0 1 2 X 10 —
[BFF] <RVYH>HE> PEH PULH PEX PHE PEF PEE
11 SHiE K& 1E 2[E 3E 4[g] 5El y 6 8 | =7 | 18 | B8 | &K
1 4 A AF | O0| x| AR @ OBk 3 1
2 6 A pES = |=A%&1 b 11 R 4 3 1
ERE il B | wR | &F Pk Mk |, 2 1 2 2
4 5 T 25 = | mmEk Az h#1 3 2 3
4 5 i m iy 0
5 3 BifE BK mEk | HER —J0 —Jo 3 1 1 1
5 3 it & v \ 7 0
6 D @ I&E mEk | =30 w10 | =ix 3
7 7 KE B k& pisam i m| =J0O 3 1 2
7 H wmE K& =3B 1
7 7 EM B 0
8 2 mx NE = POk 1
8 2 B C&E k& 1 1
8 2 (= IV PALE 0
9 8 BAR X WO Uikl b m| 2 1
KEFIRIE ) EESIH
[&F] <RYFHE>
E 4 [T >4 T8 || 2 (ARIT|(EBRIT|MOEXR| =k [ X = |BES [(BsFeF] BmRE
HA BX 5@ 22 a1 5 3 1 (Z24T)
xR &% 1[G 16 1 1 [=84T] ARE - e
RAR BT 1[G 3 10 2 [ARE4T]
[#F] <RYFHE>
E 4 % IR ) z ] = 5 b4 % g2 #
wx OB
BH CE
=l VN
[¥F] <\EBBC> P.EaH P&  PIEX
11 SHiE K& 1H 2[g] 3E 4[g] 5E 6[El 7mE 8 | = | 1 | B8 | &K
1 4 =M At | ' | &R =3O =iR 4 1
2 3 R A | #EJ0 —Jo =g WHE 4
3 9 =2 B %R plissi h# 3 2
4 8 Al Bt | EER R BTy 3
5 5 [ P N:] =R blisi P WER 3
5 5 O 28 0
6 D Rl et =R = p. <l 3 1
7 2 R ERES =R aATx =R 3 1
8 7 L BX WEAR =70 2 1
8 | Ho7 | EA EE G !
9 6 FERIEZER —K =i v 2
9 H FEH & = 1
RIS
[1#F] </\EBBC>
E 4% B 18 |[BRY| 21 (X2 (BRIT MR =& | X = |BEFR [BieF] @EE
#HH EE 1E2/3 14 51 7 3 6 6 (Z24T] mEuw
N 1E1/3 5 21 2 (=24T)
=X KFH 1[@ 4 14 1 [ARE4T]
FE Bk 10 3 1
ME KM 0[E 1
HE Eth 0 3 16 1 2 2 2
ETNIN 100 4 25 1 1
[#F] </\EBBC>
K % i%® R 1 5 ] = 5 = &= 82 #
R EREE 3




